Chapter 3
Chemical Reactions / Energy

AE =(3-5) bobs
= -2 bobs



Chapter 3
Chemical Reactions / Energy

AE=E after L before

AE =(3-5) bobs
= -2 bobs



Chapter 3
Chemical Reactions / Energy

AE=E after L before

AE =(3-5) bobs

Energy =5 bobs
¥ = -2 bobs

Energy =3 bobs



Chapter 3
Chemical Reactions / Energy

AE=E after L before

AE =(3-5) bobs

Energy =5 bobs
before =—2 bobs

Energy =3 bobs
after



Chapter 3
Chemical Reactions / Energy

AE=E after L before

AE =(3-5) bobs

Energy =5 bobs
before = -2 bobs

AE<0 means ‘favorable’ Energy =3 bobs
after



Chapter 3
Chemical Reactions / Energy

AE=E after L before



Chapter 3
Chemical Reactions / Energy

AE=E after L before
a+b—c+d



Chapter 3
Chemical Reactions / Energy

AE=E after L before
a+b—c+d

AE=(E.+E,)-(E,+E,)



Chapter 3
Chemical Reactions / Energy

AE=E after L before
a+b—c+d

AE=(E.+E,)-(E,+E,)

AL = E E products 2 L reactants



Chapter 3
Chemical Reactions / Energy

AE=E after L before
a+b—c+d

AE=(E.+E,)-(E,+E,)

AE = E L products 2 L reactants
(after) (before)



Energy Calculations

AE = E E products E L reactants



Energy Calculations

AE = E E products E L reactants

2Fe(s)+ 3CL,(g) — 2FeCl;(s)



Energy Calculations

AE = E E products E L reactants

2Fe(s)+ 3CL,(g) — 2FeCl;(s)

Fe(s)+ Fe(s)+Cl,(g)+ClL(g)+Cl,(g) — FeCl;(s)+ FeCl;(s)



Energy Calculations

AE = E E products E L reactants

2Fe(s)+ 3CL,(g) — 2FeCl;(s)

Fe(s)+ Fe(s)+Cl,(g)+ClL(g)+Cl,(g) — FeCl;(s)+ FeCl;(s)

AE = (EFeCl3(S) + EFeCl3(S))

- (EFe<s> t Epesy ¥ Eciy)  Eciyg) t EC@(g))



Energy Calculations

AE = E E products E L reactants

2Fe(s)+ 3CL,(g) — 2FeCl;(s)

Fe(s)+ Fe(s)+Cl,(g)+ClL(g)+Cl,(g) — FeCl;(s)+ FeCl;(s)

AE = (EFeCl3(S) + EFeCl3(S))

- (EFe<s> t Epesy ¥ Eciy)  Eciyg) t EC@(g))

AE = (2EFeCl3(S)) - (ZEFe<s> + 3EC12(8))



Energy Calculations

AE = E E products E L reactants

2Fe(s)+ 3CL,(g) — 2FeCl;(s)

AE =(2Ep,ci,0) = (2Erec + 3Ecio)



Energy Calculations

AE = E E products E L reactants

2Fe(s)+ 3CL,(g) — 2FeCl;(s)

AE =(2Ep,c1,s)) = (2Epes) + 3Ec
(after) (before)

12(8))



Energy Calculations

AE = E E products E L reactants

2Fe(s)+ 3CL,(g) — 2FeCl;(s)
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Stoichiometry

AE = E E products E L reactants

2Fe(s)+ 3CL,(g) —= 2FeCl;(s)

SN

Stoichiometry coefficients

/L

AE = (2EFeCl3(S)) - (2EFe(s) T 3EClz(g>)
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